
The multiplier effect 
essay

https://assignbuster.com/the-multiplier-effect-essay/
https://assignbuster.com/the-multiplier-effect-essay/
https://assignbuster.com/


The multiplier effect essay – Paper Example Page 2

When the government buys $20 billion of goods from Boeing, that purchase 

has repercussions. The immediate impact of the higher demand from the 

government is to raise employment and profits at Boeing. Then, as the 

workers see higher earnings and the firm owners see higher profits, they 

respond to this increase in income by rising their own spending on consumer

goods. As a result, the government purchase from Boeing raises the demand

for the products of many other firms in the economy. 

Because each dollar spent by the government can raise the aggregate 

demand for goods and services by more than a dollar, government 

purchases are said to have a multiplier effect on aggregate demand. This 

multiplier effect continues even after this first round. When consumer 

spending rises, the firms that produce these consumer goods hire more 

people and experience higher profits. Higher earnings and profits stimulate 

consumer spending once again, and so on. Thus, there is positive feedback 

as higher demand leads to higher income, which in turn leads to even higher 

demand. 

Once all these effects are added together, the total impact on the quantity of

goods and services demanded can be much larger than the initial impulse 

from higher government spending. This multiplier effect arising from the 

response of consumer spending can be strengthened by the response of 

investment to higher levels of demand. For instance, Boeing might respond 

to the higher demand for planes by deciding to buy more equipment or build 

another plant. In this case, higher government demand spurs higher demand

for investment goods. 
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This positive feedback from demand to investment is sometimes called the 

investment accelerator. Because of the multiplier effect, a dollar of 

government purchases can generate more than a dollar of aggregate 

demand. The logic of the multiplier effect, however, is not restricted to 

changes in government purchases. Instead, it applies to any event that 

alters spending on any component of GDP consumption, investment, 

government purchases, or net exports. For example, suppose that a 

recession overseas reduces the demand for U. S. net exports by $10 billion. 

This reduced spending on U. S. goods and services depresses U. S. national 

income, which reduces spending by U. S. consumers. If the marginal 

propensity to consume is 3/4 and the multiplier is 4, then the $10 billion fall 

in net exports means a $40 billion contraction in aggregate demand. As 

another example, suppose that a stock-market boom increases households’ 

wealth and stimulates their spending on goods and services by $20 billion. 

This extra consumer spending increases national income, which in turn 

generates even more consumer spending. 

If the marginal propensity to consume is 3/4 and the multiplier is 4, then the 

initial impulse of $20 billion in consumer spending translates into an $80 

billion increase in aggregate demand. The multiplier is an important concept 

in macroeconomics because it shows how the economy can amplify the 

impact of changes in spending. A small initial change in consumption, 

investment, government purchases, or net exports can end up having a large

effect on aggregate demand and, therefore, the economy’s production of 

goods and services. 
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